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1. volunteers 2. was repairing 3. doing

4. take 5. to cheer 6. to teach
7. folded 8. disagree 9. chores
10. doing

—.. 1. set up, who/that don’t
. take care of
. sweeping, cleaning

2
3
4. What, to do
5

. at the age
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2. will tell, comes back
3. has worn, since
4. Whenever
5. Has, yet
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— . 1. reminds, of

2. move, away

3. is filled with/is full of

4. Once upon a time

5. fell in love

Jd.C 2.A 3.C 4. B 5. C

.1. What do you think about the story of Yu Gong

2. Why

3. but the story is trying to show us that anything
is possible if you work hard

4. We should try to find other ways

5. he could build a road
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— . 1. take 2. ourselves 3. copy

4. to tell 5. Secondly
. 1. Pocket money.
2. No,they don’t.
3. No, they can’t.
4. They often wash the family car, cut the
grass, walk the dog or cook dinner.

5. Yes, they are.
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.1. what happened

2. were, doing

3. was standing, called me

4. was killed
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1. Because the hotel which the young man wanted

to go to was not far from the railway station.

2. They both cheated the young man.

3. 13 dollars.
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5. asking
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9. to

. Early
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2
4. when
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4. visiting
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simply

Canada.

2. A big storm hits their ship.

3. Because he wants to keep himself alive.

4. Not only hope but also relationship between
humans and nature.

5. 4 years.
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